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An exercise in identifying where to note down events using different 
response formats for respondents to recall points in time and to date 
events.

It is important for each interviewer to do this individually on a grid.

The interview is with a migrant who is on a visit to Dakar but normally lives 
in Spain.

Go into the specifics of the different explanations.

-the respondent gives his age at the time of the event: no problem, note 
the event on the line corresponding to that age.

-The respondent talks in terms of years: he gives a date: no problem, note 
the event on the line corresponding to that year.

-The respondent gives his child’s age, “she is 3”: 2007 - 3 = 2004; she is 3 
years old in 2007, 2 in 2006, 1 in 2005, 0 in 2004 = Count the lines 
skipped.

-The respondent talks in terms of duration: I spent my first 5 years there: 
1979 + 5 = 1984.

1st year from 1979 to 1980, 2nd year from 1980 to 1981, 3rd year 
from 1981 to 1982, 4th year from 1982 to 1983, 5th year from 1983 
to 1984. ditto: count the  lines skipped. 

-The respondent situates himself relative to another event: base yourself 
on that other event.
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Emphasize the use and value of the grid 

and show the positioning of trajectory-locations in the paper 
questionnaire such that interviewers see that they always have them in 
front of them: 

-To find where they are, 

-To help the respondent recall and date other events in the trajectories.

-To check consistency between trajectories; cf: the issue of residence 
permits for periods spent outside Senegal for example. 

-In the same way, the family column is useful for dating migration by the 
family network: the trajectory of children born outside Senegal for example 
(cf Biram and Aïcha) 
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Training in Europe: words of reminder about polygamy

Taking up again with the same partner after separating
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Show and comment on the nomenclature of  occupations

Particularly emphasize the different categories in the “trade” section (the 
one where most coding problems arise) 
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SUMMARY of the main aspects of Mobility surveyed: 

•Mobility = Moving around

•1st aspect: space: Where do people move? 

- inside Senegal

- outside Senegal

• - to Senegal

•2nd aspect: time: What length of time is the move? 

-1 year or more: this may be a migration of 1 year or more outside 
Senegal or a return trip of 1 year or more to Senegal

- Less than one year: a stay outside Senegal or return to Senegal of less 
than one year 

•3rd aspect: intention: Why?

-To live, settle or with the intention of settling =  detail these Migration 
movements in the Modules

- For another reason (holiday, business, …) = do not detail these 
movements: just fill in the Transcription Modules, nothing else.
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